1.2 Graphs and Transformations 2 (Suggested Solutions)

Transformation of Curves







Y5 Topical Revision Package 1 6(bi) 7(a) $y = \frac{1}{f(x)}$ Equation of ellipse: $\frac{(x-p)^2}{p^2} + \frac{(y-p)^2}{(2p)^2} = 1$ 6(bii) A : Scale the resulting graph parallel to the y-axis by a scale factor of 2. B : Translate the resulting graph in the negative ydirection by p units (positive y-direction by $-\frac{1}{2}$ (4, -p units) $y = \frac{1}{f(x)}$ Alternatively, A': Translate the resulting graph in the negative ydirection by $\frac{p}{2}$ units (positive y-direction by $\frac{-p}{2}$ units) x=2x = 7B': Scale the resulting graph parallel to the y-axis by a scale factor of 2. $8(i) \quad y = \frac{1}{f(x)}$ 8(ii) $y = \frac{d}{dx} [f(x)]$ y (2,1) 3/7 y=0 3 2 -1/3 (4,-3) y=-1 ix=3 9(i) 9(ii) 2kν $k^2 x^2 + \frac{1}{4} y^2 = k^2$ $C_1: k^2 x^2 + y^2 = k^2$ х 1 0 x -1 1 -1 0 -2kk

Y5 Topical Revision Package 1





